

Positive Solution of a Nonlinear Four-Point Boundary-Value Problem

Weijiao Xu¹

School of Science
Tianjin University of Commerce
Tianjin 300134, P.R. China

Huaying Wang

College of Mathematics and Statistics
Hebei University of Economics and Business
Hebei 050061, P.R. China

Copyright © 2017 Weijiao Xu and Huaying Wang. This article is distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

This paper studies equation $\ddot{u}(t) + q(t)f(t) = 0$, $t \in (0, 1)$ with four-point boundary conditions $\dot{u}(0) = 0$, $u(1) = a_1u(\xi) + a_2u(\eta)$, where $0 < \xi, \eta < 1$, $a_1 + a_2 < 1$. The existence result of positive solution is obtained by applying the fixed point theorem in cones. The approaches developed here extend the ideas and techniques derived in recent literatures.

Mathematics Subject Classification: 34B18

Keywords: Boundary-value problem, Positive solution, Fixed point

1 Introduction

It is well known, boundary value problems have been becoming an important aspect in differential equations, one can read [1-8], etc. Many papers are

¹Corresponding author

concerned about them, especially to the existence of solution (include multiple solution, positive solution, periodic solution, and extreme solution). A wide variety of approaches have been derived to this goal, such as nonlinear alternative of Leray-Schauder [1,9], Mawhin's continuation theorem [1,2], Krasnoselskii fixed point theorem [1], upper and lower solution [1,10], monotone iterative method [3], etc. Among them, multiple-point boundary value problems have attracted much attention for their widely background in theory and practical application. The study of multi-point boundary value problems for linear second order ordinary differential equations was initiated by Il'in and Moiseev. Subsequently the more conclusions of nonlinear multi-point boundary value problems appeared. Ma [12] studied positive solutions of a nonlinear three-point boundary-value problem

$$\ddot{u}(t) + a(t)f(t) = 0, t \in (0, 1)$$

with the boundary conditions

$$u(0) = 0, u(1) = \alpha u(\eta),$$

where $0 < \eta < 1$, and $0 < \alpha < \frac{1}{\eta}$.

Motivated by [12], in this paper, we consider the following problems

$$\ddot{u}(t) + q(t)f(t) = 0 \tag{1}$$

with the boundary conditions

$$\dot{u}(0) = 0, u(1) = a_1 u(\xi) + a_2 u(\eta), \tag{2}$$

where $0 < \xi, \eta < 1$.

For convenience, we denote that

$$\lambda = \max\{\xi, \eta\}, \quad a = a_1 + a_2.$$

From now on, we assume the following:

$$(A_1) \quad f \in C([0, \infty), [0, \infty));$$

$$(A_2) \quad q \in C([0, \infty), [0, \infty)),$$

there exists $x_0 \in [\lambda, 1]$ such that $q(x_0) > 0$.

Set

$$f_0 = \lim_{u \rightarrow 0^+} \frac{f(u)}{u}, \quad f_\infty = \lim_{u \rightarrow \infty} \frac{f(u)}{u}.$$

The paper is organized as follows: In section 2, we show some lemmas which are necessary to the proof of our main result. In section 3, by applying the fixed point theorem in cones, we obtain the main results for BVPs (1), (2).

2 Preliminary Notes

In this section, we establish some lemmas which are necessary to develop the main results in this paper.

Lemma 2.1 *Let $a_1 + a_2 \neq 1$, then for $y \in C[0, 1]$, the problem*

$$\ddot{u} + y(t) = 0, \quad t \in (0, 1) \quad (3)$$

$$\dot{u}(0) = 0, \quad u(1) = a_1 u(\xi) + a_2 u(\eta) \quad (4)$$

has a unique solution

$$\begin{aligned} u(t) = & - \int_0^t (t-s)y(s)ds + \frac{a_1}{a_1 + a_2 - 1} \int_0^\xi (\xi-s)y(s)ds \\ & + \frac{a_2}{a_1 + a_2 - 1} \int_0^\eta (\eta-s)y(s)ds - \frac{1}{a_1 + a_2 - 1} \int_0^1 (1-s)y(s)ds. \end{aligned} \quad (5)$$

Lemma 2.2 ^[11] *Assume that $a_i, i = 1, 2, 3, \dots, m-2$ have the same signal, if the function x satisfies:*

$$x(1) = \sum_{i=1}^{m-2} a_i x(\xi_i),$$

then exists $\eta \in [\xi_1, \xi_{m-2}]$ such that $x(1) = \alpha x(\eta)$, where $\alpha = \sum_{i=1}^{m-2} a_i$.

Lemma 2.3 *Let $a_1 + a_2 < 1$. If for $y \in C[0, 1]$ and $y \geq 0$, then the problem (3) and (4) has the unique solution u satisfies $u \geq 0, t \in C[0, 1]$.*

Proof. From the fact that $\ddot{u} = -y(t) \leq 0$ we know that the graph of $u(t)$ is concave down on $(0, 1)$ and by the unique solution we known the unique solution is positive when $t = 0$.

If $u(1) \geq 0$ then the concavity of u and the boundary condition $\dot{u}(0) = 0$ imply that $\dot{u}(t) = - \int_0^t y(s)ds < 0$ then $u(t)$ is monotonous decrease function, so it has $u \geq 0, t \in [0, 1]$.

If $u(1) < 0$, then it has $u(\beta) < 0$ and $u(1) = a u(\beta) > u(\beta), \beta \in (0, 1)$. This contradicts the monotonous decrease function of u .

Lemma 2.4 *Let $a_1 + a_2 > 1$, if $y \in C[0, 1]$ and $y(t) \geq 0, t \in (0, 1)$. then (3) and (4) has no positive solution.*

Proof. Assume that (3) and (4) has a positive solution u .

If $u(1) > 0$ then $u(\beta) > 0$ and $u(1) = au(\beta) > u(\beta)$ this contradicts the monotonous decrease function of u .

If $u(1) = 0$, and $u(\tau) > 0$ for some $\tau \in (0, 1)$. Then $u(\beta) = u(1) = 0$, $\tau \neq \beta$.

If $\tau \in (0, \beta)$, then $u(\tau) > u(\beta) = u(1)$ this contradicts the definition of the concavity.

If $\tau \in (\beta, 1)$, then $u(\tau) > u(\beta)$ this contradicts the monotonous decrease function of u .

If $u(1) < 0$, $u(0) < 0$ it has no solution;

$u(1) < 0$, $u(0) \geq 0$, let $u(\bar{t}) = 0$, $\beta \in (0, \bar{t}]$, $u(t) = au(\beta)$ contradicts; $\beta \in (\bar{t}, 1)$, $u(1) = au(\beta)$, it exists $t_1 \in (0, \bar{t}]$ such that $u(t_1) > 0$. There is

$$\frac{u(t_1) - u(\beta)}{\beta - t_1} = \frac{u(t_1) - \frac{u(1)}{a}}{t_1 - \beta} < \frac{u(t_1) - u(1)}{t_1 - \beta} < \frac{u(t_1) - u(1)}{t_1 - 1}.$$

This contradicts the concavity of u , so $u(t_1) > 0$ is not true.

Lemma 2.5 *Let $a_1 + a_2 < 1$. If for $y \in C[0, 1]$ and $y \geq 0$, then the problem (3) and (4) has the unique solution u satisfies $\inf_{t \in [\beta, 1]} u(t) \geq \gamma \|u\|$ where $\gamma = \min\{\frac{a(1-\beta)}{1-a\beta}, a\}$ and $a = a_1 + a_2$.*

Proof. When $0 < a < 1$ by the monotonous

$$u(\beta) \geq u(1).$$

Let

$$u(\bar{t}) = \|u\|.$$

If

$$\bar{t} \leq \beta < 1,$$

then

$$\min_{t \in [\beta, 1]} u(t) = u(1),$$

and

$$u(\bar{t}) \leq u(1) + \frac{u(1) - u(\beta)}{1 - \beta}(0 - 1) \leq u(1)\left(1 - \frac{1}{1 - \beta}\right) = u(1)\frac{1 - a\beta}{a(1 - \beta)},$$

$$\min_{t \in [\beta, 1]} u(t) \geq \frac{a(1 - \beta)}{1 - a\beta} \|u\|.$$

If

$$\beta < \bar{t} < 1,$$

then

$$\min_{t \in [\beta, 1]} u(t) = u(1),$$

by the monotonous

$$u(\beta) \geq u(\bar{t}),$$

$$\frac{u(1)}{a} \geq u(\bar{t}),$$

$$u(1) \geq au(\bar{t}),$$

$$\min_{t \in [\beta, 1]} u(t) \geq au(\bar{t}) = a\|u\|.$$

3 Main Results

Theorem 3.1 *Assume (A_1) and (A_2) hold. Then the problem (1) and (2) has at least one positive solution in the case*

$$(i) f_0 = 0 \quad \text{and} \quad f_\infty = \infty \quad (\text{superlinear})$$

or

$$(ii) f_0 = \infty \quad \text{and} \quad f_\infty = 0 \quad (\text{sublinear})$$

where $0 < a_1 + a_2 < 1$.

Proof. (i) Superlinear case.

Suppose that $f_0 = 0$ and $f_\infty = \infty$. We wish to show the existence of a positive solution of (1) and (2).

Now (1) and (2) has a solution $y = y(t)$ if and only if y solves the operator equation

$$\begin{aligned} y(t) &= - \int_0^t (t-s)q(s)f(y(s))ds + \frac{a_1}{a_1 + a_2 - 1} \int_0^\xi (\xi-s)q(s)f(y(s))ds + \\ &\quad \frac{a_2}{a_1 + a_2 - 1} \int_0^\eta (\eta-s)q(s)f(y(s))ds - \frac{1}{a_1 + a_2 - 1} \int_0^1 (1-s)q(s)f(y(s))ds \\ &= Ay(t). \end{aligned} \tag{6}$$

Denote

$$K = \{y \mid y \in C[0, 1], y \geq 0, \min_{\lambda \leq t \leq 1} y(t) \geq \gamma\|y\|\},$$

$\lambda = \max\{\xi, \eta\}$. It is obvious that K is a cone in $C[0, 1]$. Moreover $AK \subset K$. It is also easy to check that $A : K \rightarrow K$ is completely continuous.

Since $f_0 = 0$, we may choose $H_1 > 0$ such that $f(y) \leq \varepsilon y$, for $0 < y < H_1$ when $\varepsilon > 0$ satisfies $\frac{\varepsilon}{1 - a_1 - a_2} \int_0^1 (1 - s)q(s)ds \leq 1$. Thus, if $y \in K$ and $\|y\| = H_1$, it has

$$\begin{aligned}
Ay(t) &= - \int_0^t (t - s)q(s)f(y(s))ds + \frac{a_1}{a_1 + a_2 - 1} \int_0^\xi (\xi - s)q(s)f(y(s))ds \\
&\quad + \frac{a_2}{a_1 + a_2 - 1} \int_0^\eta (\eta - s)q(s)f(y(s))ds \\
&\quad - \frac{1}{a_1 + a_2 - 1} \int_0^1 (1 - s)q(s)f(y(s))ds \\
&\leq - \frac{1}{a_1 + a_2 - 1} \int_0^1 (1 - s)q(s)f(y(s))ds \\
&\leq - \frac{1}{a_1 + a_2 - 1} \int_0^1 (1 - s)q(s)\varepsilon y(s)ds \\
&\leq \frac{\varepsilon}{1 - a_1 - a_2} \int_0^1 (1 - s)q(s)ds \|y\| \\
&\leq \frac{\varepsilon}{1 - a_1 - a_2} \int_0^1 (1 - s)q(s)ds H_1,
\end{aligned} \tag{7}$$

and we let

$$\Omega_1 = \{y \in C[0, 1] \mid \|y\| < H_1\}. \tag{8}$$

Then (7) shows that $\|Ay\| \leq y$, for $y \in K \cap \partial\Omega_1$.

Since $f_\infty = \infty$, there exists $\widehat{H}_2 > 0$ such that $f(u) \geq \rho u$, for $u \geq \widehat{H}_2$ where $\rho > 0$ such that

$$\frac{\rho\gamma}{1 - a_1 - a_2} \int_\lambda^1 (1 - s)q(s)ds \geq 1. \tag{9}$$

Let $H_2 = \max\{2H_1, \frac{\widehat{H}_2}{r}\}$ and $\Omega_2 = \{y \in C[0, 1] \mid \|y\| < H_2\}$, the $y \in K$ and $\|y\| = H_2$ implies $\min_{\lambda < t < 1} y(t) \geq \gamma \|y\| \geq H_2$.

$$\begin{aligned}
Ay(\lambda) &= - \int_0^\lambda (\lambda - s)q(s)f(y(s))ds + \frac{a_1}{a_1 + a_2 - 1} \int_0^\xi (\xi - s)q(s)f(y(s))ds \\
&\quad + \frac{a_2}{a_1 + a_2 - 1} \int_0^\eta (\eta - s)q(s)f(y(s))ds \\
&\quad - \frac{1}{a_1 + a_2 - 1} \int_0^1 (1 - s)q(s)f(y(s))ds
\end{aligned}$$

$$\begin{aligned}
&\geq -\int_0^\lambda (\lambda-s)q(s)f(y(s))ds + \frac{a_1}{a_1+a_2-1} \int_0^\lambda (\lambda-s)q(s)f(y(s))ds \\
&\quad + \frac{a_2}{a_1+a_2-1} \int_0^\lambda (\lambda-s)q(s)f(y(s))ds \\
&\quad - \frac{1}{a_1+a_2-1} \int_0^1 (1-s)q(s)f(y(s))ds \\
&= \frac{1}{a_1+a_2-1} \int_0^\lambda (\lambda-s)q(s)f(y(s))ds \\
&\quad - \frac{1}{a_1+a_2-1} \int_0^1 (1-s)q(s)f(y(s))ds \\
&= \frac{1}{a_1+a_2-1} \left(\int_0^\lambda (\lambda-s)q(s)f(y(s))ds - \int_0^1 (1-s)q(s)f(y(s))ds \right) \\
&= \frac{1}{a_1+a_2-1} \left(\int_0^\lambda \lambda q(s)f(y(s))ds - \int_0^\lambda sq(s)f(y(s))ds \right. \\
&\quad \left. - \int_0^1 q(s)f(y(s))ds + \int_0^1 sq(s)f(y(s))ds \right) \\
&\geq \frac{1}{a_1+a_2-1} \left(\int_\lambda^1 sq(s)f(y(s))ds - \int_\lambda^1 q(s)f(y(s))ds \right) \\
&= \frac{1}{a_1+a_2-1} \int_\lambda^1 (s-1)q(s)f(y(s))ds \\
&\geq \frac{\rho}{a_1+a_2-1} \int_\lambda^1 (s-1)q(s)y(s)ds.
\end{aligned} \tag{10}$$

Hence, for $y \in K \cap \partial\Omega_2$,

$$\|Ay\| \geq \frac{\rho\gamma}{1-a_1-a_2} \int_\lambda^1 (1-s)q(s)ds \|y\| \geq \|y\|.$$

Therefore, by the Fixed Point Theorem, it follows that A has a fixed point in $K \cap (\bar{\Omega} \setminus \Omega_1)$ such that $H_1 \leq \|u\| \leq H_2$. This completes the superlinear part of the theorem.

(ii) Sublinear case.

Suppose next that $f_0 = \infty$ and $f_\infty = 0$ choose $H_3 > 0$ such that $f(y) \geq My$ for $0 < y < H_3$ where

$$\frac{M\gamma}{1-a_1-a_2} \int_\lambda^1 (s-1)q(s)y(s)ds \geq 1. \tag{11}$$

By using the method to get (10), we can get that

$$\begin{aligned}
Ay(\lambda) &= -\int_0^\lambda (\lambda - s)q(s)f(y(s))ds + \frac{a_1}{a_1 + a_2 - 1} \int_0^\xi (\xi - s)q(s)f(y(s))ds \\
&\quad + \frac{a_2}{a_1 + a_2 - 1} \int_0^\eta (\eta - s)q(s)f(y(s))ds \\
&\quad - \frac{1}{a_1 + a_2 - 1} \int_0^1 (1 - s)q(s)f(y(s))ds \\
&\geq \frac{1}{a_1 + a_2 - 1} \int_\lambda^1 (s - 1)q(s)f(y(s))ds \\
&\geq \frac{M}{a_1 + a_2 - 1} \int_\lambda^1 (s - 1)q(s)y(s)ds \\
&\geq \frac{M\gamma}{a_1 + a_2 - 1} \int_\lambda^1 (s - 1)q(s)y(s)ds \|y\| \\
&= H_3.
\end{aligned} \tag{12}$$

Thus, we may let $\Omega_3 = \{y \in C[0, 1] \mid \|y\| < H_3\}$ such that

$$\|Ay\| \geq \|y\|, y \in K \cap \partial\Omega_3.$$

Now, since $f_\infty = 0$, exists $\overline{H}_4 > 0$ such that $f(y) \leq \varphi y$ for $y \geq \overline{H}_4$ where $\varphi > 0$ satisfies $\frac{N}{1 - a_1 - a_2} \int_0^1 (1 - s)q(s)y(s)ds \leq 1$.

We consider two cases:

Case(i). Support f is bounded, say $f(y) \leq N$ for all $y \in [0, \infty)$ choose $H_4 = \max\{2H_3, \frac{N}{1 - a_1 - a_2} \int_0^1 (1 - s)q(s)ds\}$ such that, for $y \in K$ with $\|y\| = H_4$. We have

$$\begin{aligned}
Ay(t) &= -\int_0^t (t - s)q(s)f(y(s))ds + \frac{a_1}{a_1 + a_2 - 1} \int_0^\xi (\xi - s)q(s)f(y(s))ds \\
&\quad + \frac{a_2}{a_1 + a_2 - 1} \int_0^\eta (\eta - s)q(s)f(y(s))ds \\
&\quad - \frac{1}{a_1 + a_2 - 1} \int_0^1 (1 - s)q(s)f(y(s))ds \\
&\leq \frac{1}{a_1 + a_2 - 1} \int_0^1 (s - 1)q(s)f(y(s))ds \\
&\leq \frac{N}{a_1 + a_2 - 1} \int_0^1 (s - 1)q(s)y(s)ds \\
&\leq \frac{N}{a_1 + a_2 - 1} \int_0^1 (s - 1)q(s)ds \|y\| \\
&\leq H_4,
\end{aligned} \tag{13}$$

therefore $\|Ay\| \leq \|y\|$.

Case(ii). If f is unbounded, we know from (A_1) that there is H_4 : $H_4 > \max\{2H_3, \frac{1}{\gamma}H_4\}$ such that $f(y) \leq f(H_4)$ for $0 < y \leq H_4$ (we are able to do this since f is unbounded). Then for $y \in K$ and $\|y\| = H_4$, we have

$$\begin{aligned}
 Ay(t) &= -\int_0^t (t-s)q(s)f(y(s))ds + \frac{a_1}{a_1+a_2-1} \int_0^\xi (\xi-s)q(s)f(y(s))ds \\
 &\quad + \frac{a_2}{a_1+a_2-1} \int_0^\eta (\eta-s)q(s)f(y(s))ds \\
 &\quad - \frac{1}{a_1+a_2-1} \int_0^1 (1-s)q(s)f(y(s))ds \\
 &\leq \frac{1}{a_1+a_2-1} \int_0^1 (s-1)q(s)f(y(s))ds \\
 &\leq \frac{1}{a_1+a_2-1} \int_0^1 (s-1)q(s)f(H_4)ds \\
 &\leq \frac{1}{a_1+a_2-1} \int_0^1 (s-1)q(s)\varphi H_4 ds \\
 &\leq H_4.
 \end{aligned} \tag{14}$$

Therefore, in either case we may put $\Omega_4 = \{y \in C[0,1] \mid \|y\| < H_4\}$ and for $y \in K \cap \partial\Omega_4$, we may have $\|Ay\| \leq \|y\|$. By the Fixed Point Theorem, it follows that the bounded valuable problem (1) and (2) has a positive solution. Therefore, we complete the proof of the theorem.

Acknowledgements. We are very grateful to the anonymous referees for their valuable comments and suggestions, which led to an improvement of our original manuscript. This work was supported by National Natural Science Foundation of China (Grant No. 11626171) and National Natural Science Foundation of China (Grant No. 11601385).

References

- [1] W. Ge, *Boundary Value Problems for Nonlinear Ordinary Differential Equations*, Science Press, 2007.
- [2] W. Ge and J. Ren, An extension of Mawhin's continuation theorem and its application to boundary value problems with a p-Laplacian, *Nonlinear Analysis: Theory, Methods and Applications*, **58** (2004), 477 - 488.
<https://doi.org/10.1016/j.na.2004.01.007>

- [3] Z. Bai, B. Huang and W. Ge, The iterative solutions for some fourth-order p -Laplace equation boundary value problems, *Applied Math. Letters*, **19** (2006), 8 - 14. <https://doi.org/10.1016/j.aml.2004.10.010>
- [4] F.Y. Deren and N.A. Hamal, Second-order boundary-value problems with integral boundary conditions on the real line, *Electron. J. Differential Equations*, **2014** (2014), 1 - 13.
- [5] C. Mercelli, The role of boundary data on the solvability of some equations involving non-autonomous nonlinear differential operators, *Bound. Value Probl.*, **2013** (2013), 252. <https://doi.org/10.1186/1687-2770-2013-252>
- [6] Y. Liu, Existence of positive solutions of four-point BVPs for singular generalized Lane-Emden systems on whole line, *Nonlinear Analysis: Real World Applications*, **33** (2017), 200 - 225. <https://doi.org/10.1016/j.nonrwa.2016.04.014>
- [7] H. Ma and R. Ma, The existence of solutions of second order value problem for ordinary differential equation, *J. of Southwest China Normal University (Natural Science)*, (2005), 22-25.
- [8] S. Hu and V. Lakshmikantham, Periodic Boundary Value Problems for the Second Impulsive Differential Equations, *Nonlinear Analysis: Theory, Methods and Applications*, **13** (1989), 75 - 85. [https://doi.org/10.1016/0362-546x\(89\)90036-9](https://doi.org/10.1016/0362-546x(89)90036-9)
- [9] R. Ma, Existence theorems for a second-order three-point boundary value problems, *J. Math. Appl. Anal.*, **212** (1997), 430 - 442. <https://doi.org/10.1006/jmaa.1997.5515>
- [10] R. Ma, Multiplicity results for a three-point boundary value problems at resonance, *Nonlinear Analysis: Theory, Methods and Applications*, **53** (2003), 777 - 789. [https://doi.org/10.1016/s0362-546x\(03\)00033-6](https://doi.org/10.1016/s0362-546x(03)00033-6)
- [11] R. Ma, *Nonlocal Problem of Nonlinear Ordinary Differential Equation*, Science Press, 2004.
- [12] R.Y Ma, Positive solutions of a nonlinear three-point boundary-value problem, *Elec. Journal of Differential Equations*, **1999** (1999), no. 34, 1-8.

Received: November 10, 2017; Published: December 11, 2017